VCamoToBILTY

63 Ibs

MULTIPLE MOUNTING
HOLES TO POSITION
MOUNTING BEAM

MOTOBILT.COM
PARTS LIST

ADJUSTABLE SLOTS TO ITEM | QTY PART NUMBER DESCRIPTION DIMENSIONS
ADAPT THE WIDTH OF L | 2 [Fiogama Fi094 Nt

2 44 | Flat Washer 5/16" Flat Washer 5/16"

3 | 22 |Hex Bolt 5/16" UNC x 1.0" |Hex Bolt 5/16" UNC x 1.0"

4 | 1 |MB5017-01 Plate 01 26" x 44"

5 | 4 |MB5017-02 Plate 02

6 | 1 |MB5017-03 Plate 03 4-7/8" x 1-1/2"

7 | 2 |MB5017-04 Plate 04 44"

8 | 4 |MB5017-05 Plate 05 19-1/2"

9 | 22 |Nylock Nut 5/16" UNC Nylock Nut 5/16" UNC

10 | 26 |Screw #10-24x 1/2" Screw #10-24 x 1/2"

REUSE STOCK HARDTOP

or SOFTTOP BOLTS
TO SECURE TO VEHICLE

4

Dwg/Part No:

MB5017

Description:

& T F& ¥ |Universal Cargo Rack

THIS DOCUMENT & THE INFORMATION CONTAINED WITHIN IS THE SOLE PROPERTY OF MOTOBILT INC. THIS DOCUMENT SHALL NOT BE COPIED, STORED, DUPLICATED, REVERSE ENGINEERED or OTHERWISE WITHOUT THE EXPRESS WRITTEN CONSTENT OF MOTOBILT INC.
COPYRIGHT © MOTOBILT INC. COPYRIGHTED MATERIAL IS PROTECTED BY INTERNATIONAL COPYRIGHT LAWS. "MOTOBILT" IS A REGISTERED TRADE NAME.

Sheet No: 1 of 1\
Rev No: Q

Mat'l:




